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QUESTION 1

A customer with a FlexPod Express solution wants to enable remote access to the NetApp storage component. 

In this scenario, which two access methods are recommended? (Choose two.) 

A. SAML 

B. SSH 

C. RDP 

D. Telnet 

Correct Answer: BD 

 

QUESTION 2

A customer is planning to deploy a FlexPod solution for a large scale SAN requirement that uses the FC protocol. The
customer plans to use Smart Zoning in the configurations to reduce the number of TCAM entries in the zoning process. 

In this scenario, which design would enable the customer to use Smart Zoning? 

A. storage connected to Cisco Nexus 9000 Series switches 

B. storage connected to Cisco Nexus 5000 Series switches 

C. storage connected to Cisco MDS switches 

D. storage directly connected to Cisco UCS Fabric Interconnects 

Correct Answer: C 

Reference: https://www.cisco.com/c/en/us/td/docs/unified_computing/ucs/UCS_CVDs/
flexpod_datacenter_vmware_netappaffa_design.html#_Toc23952741 

 

QUESTION 3

A client has a FlexPod Datacenter solution with four active fabric links in port channel mode established between the
Cisco Fabric Interconnects and the IOMs on a Cisco 5108 blade chassis. The blade chassis is fully populated with Cisco
UCS B200M5 blades. A worker in the data center inadvertently unplugs the fourth uplink cable from IOM-A while
working in the rack. 

In this scenario, what happens to the network traffic? 

A. Connectivity for servers 3, 4, 7, and 8 all fail over to IOM-B. 

B. There is a loss of connectivity for servers 4 and 8. 

C. Traffic is load-balanced within IOM-A. 
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D. Traffic is load-balanced within IOM-B. 

Correct Answer: A 

 

QUESTION 4

After you install a FlexPod infrastructure at a customer site, you need to migrate the existing Vmware virtual machines
off the infrastructure that was used before FlexPod was installed. 

Which VMware vSphere feature accomplishes this task? 

A. vMotion 

B. vSphere DRS 

C. VM Component Protection 

D. vSphere HA 

Correct Answer: A 

 

QUESTION 5

A customer has verified physical connectivity on the FlexPod. However, the LUNs are not available on the Cisco UCS
server. To make the LUNs visible to the UCS, the customer must enable a switching feature for zoning. 

In this scenario, what should the customer do? 

A. Enable NPIV on all switches. 

B. Enable Spine mode on all the Cisco Nexus 9000 switches. 

C. Enable NPV on all switches. 

D. Enable the device connector feature in Cisco UCS Manager. 

Correct Answer: D 
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